Lesson 18 Grammar
Review: Lesson 13, P. 28, Duration of an Action

                                                               Left = Right

	 中文        
  obj.                                                     
	中文        

  obj.                                                     

	 學中文    

  v. + obj.
	學中文    

  v. + obj.

	 了        

Aspectual particle了 may occur 

after the predicate verb to indicate the 

completion of an action in the past. 
	了

	我學了中文 

subj. + v. + 了  + obj.
	我學中文了
subj. + v.  + obj. + 了

	我學了+ time duration + 的 + 中文
	我學(verb)中文+ 學(verb)+了+ time duration

	我學了三年的  中文
I’ve learned three years of Chinese.
	我學中文學了三年
I’ve learned Chinese for three years.


Compare first case and second case:

                                                          Left = Right

	First

case
	我學了三年的中文

	我學中文學了三年
	I’ve learned Chinese 

for three years, but

I am not learning Chinese at the present point in time.

	Second

case
	我學了三年的中文 了

	我學中文學了三年 了
	I’ve learned Chinese

for three years, and

I have, up to this point 

in time, been learning Chinese. I will or will not continue learning 

Chinese in the future.


Second case:
Verb + 了 +  Numeral + Time Measure word + (noun) +了
Indicate an action has been continuing for a duration of time up to this point of time, but do not know whether this action will continue to the future or not.

3 years ago                                Current time

(---------------------------------------  1------------------------------------(
second case--------------------------(1   ? 
Start learning Chinese

我 學了三 年 (的) 中 文 了.
Answer the following questions based on the sentence of the second case:

1. How many了’s are in the second sentence?  Two.

2. The first 了 is after what word?    The verb  學
3. The second 了 is after what word?    At the end of the sentence.
4. What are the duration of time words in this sentence?    三 年
5. When did I start to learn Chinese based on this sentence?   Three years ago (三年前)
6. Am I learning Chinese at this point of time?   Yes.
7. Will I be continuing to learn Chinese or not after this point in time?  Don’t know.
8. Why?  Because I could say, “I will continue to learn the Chinese.”

                 Or I could say, “I will not continue to learn Chinese after all.”

? years ago                                Current time

(---------------------------------------  1------------------------------------(
first case                                         stop 
(Has learned Chinese for three years before, but I am not learning Chinese at current time)

我 學了三 年 (的) 中 文.

Answer the following questions based on the sentence of the second case:

1. How many了’s are in the first sentence?  One.

2. The first 了 is after what word?    The verb  學
3. What words are followed by the verb 學 and了?   Numeral time measure word(三 年)
4. What are the duration of time words in this sentence?    Three years(三 年)
5. When did I start to learn Chinese based on this sentence?   Don’t know.
6. Am I learning Chinese at this point of time?   No.
7. If people want to know when did I learn Chinese, I could modify the sentence as:

     我在大學的時候學了三年(的)中文.

Read textbook, P. 116, Ex. 1 - 5

· Same structure for the time measure word could be used to describe quantity.
     Verb + 了 +  Numeral + Quantity Measure word + (noun) +了
     Indicate an action has been done for a few times or has been completed some quantities       

     up to this point of time, but do not know whether this action will continue to the future     

     or not.  

     Read P. 116, Ex. 6, 7
2. 連 …obj.…. 都 / 也  (even); a way to express emphasis. In Lesson 18, we are learning two structures to express emphasis. One is連 …obj.…. 都 / 也. The other one is Interrogative Pronoun + 都 / 也 . 
Subj./Conjuction + 連 + Obj. +都 / 也 + verb clause/potential complement
The object between連 and 都 / 也may be words or phrases, it is the element that you need to emphasize. Showing that even what is emphasized. 
Ex. 1 我姊姊的孩子很聰明, 連 日本話(obj.) 都會說.
Read P. 117, Ex. 2
Negative form:
Subj./Conjuction + 連 + obj. +都 / 也 + 不  + verb clause/potential complement

E. 4 昨天學的生詞我連 一個(obj.)都 不 記得了.
Read P. 117, Ex. 3

5. Interrogative Pronouns (means any) with 都 / 也 ; a way to express emphasis. 

Interrogative Pronouns do not always appear in questions. When they take都 / 也 after them they mean “any”. Showing indefinite indication, emphasizing “no one or nothing is an exception.” . It is used as an affirmative statement.  
Subj. + Interrogative Pronoun + 都 / 也 + negative of Verb phrase/Adj./Potential complement 

** Verb phrase or Adj. or Potential complement is in negative form.

Interrogative Pronouns act as subject, fronted object, adverbial adjunct or attributive.

Ex. 4 我 (subj.) 什麼動物 (any animal; Interrogative Pronoun) 都 不養 (verb phrase).
Ex. 7.B 我 (subj.)  誰 (anybody) 都/也  不認識 (negative verb phrase).
3. Potential complements with V. + 不下

One of the meanings of the V. + 不下 structure is that the location or container involved does not have the capacity to hold something.

Subj. + V. +不下 + ((modifier) + noun)

Read P. 117, #3, Ex. 1-3
Workbook, P. 79, B.1  他忘了  女朋友的生日. (Obj. need to emphasize.)
                           他連  女朋友的生日  都忘了.
B.3 中文小說 is the obj. that needs to place between 連 and 都 / 也
B.5 不會寫   is the obj. that needs to place between 連 and 都 / 也
P. 118 多 indicating an Approximate Number

A. If the noun is indivisible into smaller units; e.g. student, people, bed….

1. Numeral words (last digit = 0) + 多  + measure word + noun (indivisible into smaller units)

Ex. 2我們班有  二十  多  個學生.  (學生 cannot be divided into smaller units.)
Ex. 3 他昨天買了  四十  多  本書.  (書     cannot be divided into smaller units.)

2. Numeral words (last digit = 1- 9) + noun (indivisible into smaller units)

他昨天買了  四, 五  本書.  (Approximately 4 or 5 books.) (Will learn in Lesson 19)

B. If the noun can be divided into smaller units; e.g. money, time. 一塊錢 = 十毛, 
一個星期 = 七天.
1.    Numeral words (last digit = 1- 9) + measure word + 多 + noun (can be divided into 
       smaller units)


  Ex. 1 這本書才一塊多錢. 
2.   Numeral words (last digit = 0) + or (measure word) + 多 + or (measure word) +   

  noun (can be divided into smaller units)

· The position of多will depends on the situations as following: 

   
 I--------------------------------------I--------------------------------------I
$10.00                                       $15                                          $20.00  

十塊錢                                十  多  塊錢(approximate)           二十塊錢
                                                 $10 and more dollars --->            up to $20.00

    
 I--------------------------------------I--------------------------------------I
$10.00                                    $10.50                                        $11.00  

十塊錢                                十 塊  多  錢(approximate)           十一塊錢
                                                  $10 dollars and more cents    ---> up to $11.00
           I--------------------------------------I--------------------------------------I
10 years                                     15 years                                   20 years
十年                                     十 多 年 (approximate)               二十年      
                                                    10 and more years   -(                up to 20 years
           I--------------------------------------I--------------------------------------I
10 years                                    10.5 years                                   11 years
 
十年                                     十 年  多 (approximate)               十一年      
                                                     10 years and more days   (        up to 11 years 
Ex. 5.A這本書十多塊錢.
  
      5. B這本書十塊多錢.
Ex. 6.A 他們認識十多年了.
                 6.B 他們認識十年多了.
